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by # 73, 156 173, 138 81,512 91, 626 -107 -68 -39
H A B 19, 888 46, 625 21, 252 25, 373 -12 -32 20
+ = 588 1,378 647 7131 4 -1 5
FBAF—TH 250 626 284 342 2 -1 3
4BE_-TH 168 392 166 226 1 -1 2
4BE=TEH 266 646 286 360 -2 -2 0
4BFMTH 369 878 415 463 -1 -1 0
4SBERTH 241 584 269 315 1 -1 2
4BAFENRTH 466 1,080 465 615 -1 -1 0
Z B = 1,190 2,793 1,319 1,474 3 -3 6
FmEEfA—TH 248 611 280 331 -6 0 -6
mEMA=TAH 150 396 173 223 -6 -1 -5
£/T—TH 507 1,136 497 639 4 -1 5
£/ TFZTH 186 402 184 218 -1 0 -1
£/ TF=TH 246 563 273 290 -1 -2 1
£/ THETH 343 755 345 410 -2 0 -2
£/ THETH 40 92 44 48 0 0 0
£ /J F 18 43 19 24 0 0 0
mAB®—TH 200 412 171 241 -1 -2 1
RAXZTEH 154 367 160 207 1 0 1
MABR=TH 131 319 151 168 0 1 -1
RASMTH 256 581 256 325 -4 0 -4
INET—TH 137 281 132 149 2 0 2
INETZTH 440 1,089 470 619 -1 0 -1
INBT=TH 254 546 235 311 5 2 3
KET—TH 440 940 414 526 -6 0 -6
KET—TH 579 1,289 581 708 -1 1 -2
KET=TH 389 865 391 474 -3 -1 -2
KETIUTH 384 935 429 506 0 -1 1
KETRTH 311 725 357 368 4 1 3
KETRTH 193 522 244 278 6 0 6
KETETH 85 231 106 125 0 0 0
MARE—TH 425 997 467 530 -3 0 -3
MARE_TH 419 946 436 510 -1 -3 2
MARE=TH 607 1,479 674 805 -3 1 -4
MAREMNTH 266 638 299 339 -5 -1 -4
MARERTH 563 1,390 650 740 5 0 5
MARERTH 467 1,126 540 586 i 0 7
B AE—TH 492 1,005 461 544 9 -1 10
HEHEZTH 702 1,575 700 875 -2 -3 1
HLEAE=TH 379 861 407 454 -10 1 -11
HEHERTH 370 876 414 462 14 1 13
Bl Rk HT 489 1,105 462 643 1 -2 3
£ B H 319 809 356 453 1 -1 2
{EBh—TH 414 1,037 499 538 -3 0 -3
{EBI—TH 285 693 334 359 -3 -2 -1
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£E&—TH 320 780 348 432 6 -1 7
EAZ-TH 754 1,664 758 906 8 0 8
EA&=TH 160 448 194 254 1 1 0
EAWMTH 132 263 122 141 -2 0 -2
EAETH 388 966 463 503 0 0 0
kR / F 503 1,254 541 713 -5 -1 -4
BEEF—TH 282 620 283 337 1 0 1
WEEF_TH 249 574 260 314 2 0 2
WEE=TH 189 407 180 227 -4 -4 0
WBEEFLMTH 100 248 111 137 0 0 0
A AB—TH 245 538 250 288 -2 0 -2
WM AHB=-TH 173 417 192 225 -4 1 -5
WAAB=TH 215 553 230 323 -11 -2 -9
WA AHBmTAE 143 403 179 224 -5 -1 -4
WMAABETH 609 1,476 679 797 -1 -1 0
B o #h i 10, 106 24,771 11, 591 13, 186 -35 -15 -20
[E#—TH 390 1, 301 576 125 -1 -1 0
E#g_—TH 494 1,186 570 616 -2 0 -2
E#%=TH 721 1,669 768 901 -4 0 -4
E#rm T B 328 722 366 356 0 1 -1
E#ATH 381 948 452 496 -3 0 -3
B o - E 2,449 5,866 2,768 3,098 -2 -2 0
fE—TH 476 1,138 527 611 -1 1 -2
% E_TH 395 986 449 537 -1 -8 -3
mEHE=TH 266 665 301 364 -4 -1 -3
mA#EENTH 457 1,095 516 579 1 -1 2
tEBHEERE—TH 7 22 12 10 0 0 0
tEBAHEER-TH 465 1,115 504 611 4 -1 5
tEBHEER=TH 497 1,271 584 687 3 0 3
tEBAHEEREMTH 496 1,166 516 650 0 -1 1
tEBAHEERRATH 289 706 348 358 -2 0 -2
EmB—TH 702 1,796 857 939 0 1 -1
EBR_-TH 464 1,124 534 590 -4 -2 -2
tBHE—TH 449 1,062 506 556 -4 -1 -3
tEBAHEZTH 380 939 437 502 -5 0 -5
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FEOR O = 14,129 34, 046 16, 189 17, 857 =21 -8 -19
#E—TH 342 819 398 421 4 0 4
w’E_-TH 157 1,967 921 1,046 4 1 3
#E=TH 579 1, 441 648 793 1 -1 2
R#EOTH 342 779 354 425 -2 1 -3
#ERTH 398 814 380 434 0 -1 1
i =) 254 544 294 250 -6 0 -6
FHN—TH 481 1,122 553 569 -2 1 -3
= i = 500 1,152 513 639 -3 1 -4
FH9=TH 404 1,030 442 588 -1 -1 0
F 4 273 590 283 307 -4 0 -4
1] % 2,260 5,335 2,637 2,698 -12 -1 -11
t B E 702 1,714 836 878 -5 -2 -3
FL—TH 283 723 344 379 -3 -2 -1
FILZTH 447 1,152 544 608 10 2 8
FIR=TH 326 844 412 432 0 0 0
FLEMTH 559 1,456 707 749 -3 0 -3
FLAETH 229 474 242 232 8 0 8
FILATH 111 218 122 96 0 0 0
F i 44 100 45 55 0 0 0
HEH—TH 195 448 221 2217 -5 0 -5
HH_-TH 391 987 487 500 -3 -1 -2
HEHA=TH 830 2,026 994 1,032 -18 -2 -16
HHMTH 335 813 384 429 0 -1 1
EARATH 608 1,478 692 786 -5 -4 -1
HHNTH 202 479 232 247 5 -1 6
4] H 0 0 0 0 0 0 0
w i 1, 411 3,385 1,548 1,837 1 1 0
#wEL—TH 212 57 252 319 7 0 7
#HEIL—-_TH 247 637 284 353 0 0 0
HEIL=TH 269 613 271 336 4 1 3
#HEILMTH 138 335 143 192 1 1 0
X M #h = 18, 955 42, 463 20, 403 22,060 1 -9 10
b/ A 1,721 3, 861 1,816 2,045 -2 -4 2
5Z-TH 722 1,310 658 652 1 -1 2
£=TH 661 1, 496 127 769 -1 1 -2
EMTH 752 1,689 810 879 -2 -1 -1
EETH 1,037 2,537 1,247 1,290 -1 1 -2
a 814 1,992 936 1, 056 10 -2 12
INEA—TH 553 1,023 503 520 -2 0 -2
INERZTH 904 1,968 969 999 -5 -2 -3
I BB 51 117 57 60 0 0 0
RKw—TH 297 502 232 270 -3 0 -3
KHW=—TH 854 1,520 715 805 2 -1 3
KMW=TH 559 1,127 534 593 1 0 1
KM@ TH 703 1,567 762 805 2 1 1
KMETH 777 1,721 792 929 -3 0 -3
RKMWATH 568 1,140 545 595 0 2 -2
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X fia 1,324 3,125 1,493 1,632 4 -1 5
=) 52 295 879 433 446 1 1 0
A#—TH 1, 541 3, 467 1,698 1,769 2 0 2
= ] 1,943 4 518 2,219 2,299 -6 0 -6
SR—TH 195 464 225 239 -3 0 -3
SR-TH 349 928 434 494 6 0 6
SR=TH 246 554 283 271 0 0
SEROETH X X X X 0 0 0
SRAETH X X X X 0 0 0
SRE—TH 307 788 368 420 -1 -1 0
SRE-TH 207 461 221 240 -1 0 -1
SRE=TEH 248 582 256 326 2 -1 3
SREMTH 464 1,098 505 593 4 0
SREERETH 163 409 186 223 0 0 0
SREBENTH 331 735 352 383 -3 0 -3
SREETH 365 874 421 453 -1 -1 0
E # th = 10,078 25,227 12,077 13, 150 -34 -4 -30
&5—TH 378 756 388 368 -2 0 -2
fA—TH 637 1,414 670 744 0 1 -1
BAAZTH 748 1,533 722 811 9 2 7
£ PN 1,793 4 646 2,186 2,460 -24 -1 -23
E#—TH 583 1,284 603 681 -7 0 -7
E#H_TH 682 1,706 812 894 -10 1 -11
EH=TH 258 627 312 315 11 1 10
E#EMOUTH 231 664 305 359 -5 0 -5
EHEATH 446 1,139 551 588 4 0 4
b} X 2,209 5,693 2,802 2,891 15 0 15
177 (o] 1,399 3,737 1,788 1,949 -15 -5 -10
B = 714 2,028 938 1,090 -10 -3 -7
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